Math 11 At Work Unit 1 Review

Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
1.
Which of the following would not be a correct description of slope?

	a.
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	b.
	The height that a line rises.

	c.
	How gently or steeply something is slanted.

	d.
	The change in vertical distance compared to the change in horizontal distance.


____
2.
A wheelchair ramp rises 5 feet over a distance of 15 feet. What is the slope of this ramp?

	a.
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	c.
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	b.
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____
3.
The slope of a bike jump is 1.9 and it rises 4 feet. What is the horizontal distance covered by this jump?

	a.
	2.1 ft
	c.
	1.7 ft

	b.
	0.5 ft
	d.
	7.6 ft


____
4.
If the slope of a hill is 0.60, which of the following would be the rise and run?

	a.
	rise = 6 m, run = 5 m
	c.
	rise = 3 m, run = 5 m

	b.
	rise = 6 m, run = 3 m
	d.
	rise = 4 m, run = 6 m


____
5.
What is the slope of this triangle?
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____
6.
A contractor is designing a roof that will have a 6:13 pitch, which means the roof will rise 6 feet for every 13 feet of horizontal distance. Which of the following diagrams would represent a 6:13 roof?

	a.
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	c.
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	b.
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	d.
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____
7.
If a line rises 0 feet over a horizontal distance of 10 feet, the slope could be described as:

	a.
	A gentle decline.
	c.
	A vertical wall.

	b.
	m = 0.5
	d.
	A horizontal surface.


____
8.
For the triangle shown, which of the following would allow you to calculate the angle of elevation?
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____
9.
The slope of a ramp leading into a grocery store is 1:6. What is the angle of elevation of the ramp?

	a.
	10.5°
	c.
	9.5°

	b.
	80.5°
	d.
	64.4°


____
10.
A commonly accepted angle of elevation for safe, accessible wheelchair ramps is 4.5°. The public library’s main door is 1.2 m above street level. What will be the run of this ramp?

	a.
	11.44 m
	c.
	15.25 m

	b.
	0.07 m
	d.
	1.32 m


____
11.
What is the percent grade of a hill that rises to an elevation of 1500 m with a run of 16 km?

	a.
	9.4%
	c.
	93.8%

	b.
	1.1%
	d.
	7.1%


____
12.
What is the slope of mountain with a 9% grade?

	a.
	0.13
	c.
	0.34

	b.
	0.08
	d.
	0.09


____
13.
Amrit is studying for an exam, reading his textbook at a rate of 0.5 pages/minute. The exam covers a 42-page chapter. How long will it take him to finish reading the chapter?

	a.
	1.1 hours
	c.
	109.2 minutes

	b.
	1.4 hours
	d.
	25.2 minutes


Short Answer

14.
The windmill trap on a mini-putt course includes a ramp that vanishes underground for 1.2 m. If the slope of the ramp is 0.5, what is the vertical distance the ball will descend?


15.
Harpreet wants to avoid steep hills on his bike ride to work. He has a choice of two routes:

•
The hill on Cedar Street climbs to an elevation of 44 m over 119 m of horizontal distance.

•
The hill on Gordon Street climbs to an elevation of 15 m over a 30 m horizontal distance.

Which of these hills is steepest?


16.
Starting from the coordinate (–5, –5), draw a line with a slope of [image: image12.emf]1

2
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17.
A+ Caterers is tracking the popularity of their cheese puff appetizers at a community event. The graph below shows the number of cheese puffs on the tray over the course of the afternoon. Calculate the slope of this line.
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18.
In an orienteering competition, two clues are located on the map at coordinates (–14, –36) and (15, 4). Each unit on the map represents 12 m. How far apart are these clues?


19.
Starting from the coordinate (2, –1), draw a line with a slope of –[image: image15.emf]1

4

.
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Longer Problems

20.
John is planning to book a roofing company to re-shingle his cottage, but he needs to tell them the pitch of his roof. His triangular roof is 32 feet wide and rises 9 feet.

a. 
What is the slope of John’s roof?

b. 
How many feet does John’s roof rise for every 8 feet of horizontal distance?
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21.
A moving truck has a ramp that extends from the deck, or floor, of the truck to the ground to allow movers to wheel furniture and boxes into the truck on carts.

The deck of a truck is 2.5 ft high and the ramp extends to a point on the ground 8 ft away.

a. 
What is the slope of the ramp?

b. 
Jaime is looking for a moving truck with a slope of 0.19 to comfortably move a large oak chest of drawers. Is the ramp of this truck too steep or too shallow? Explain.

c. 
All the trucks offered by the moving company have the same deck height. What horizontal length of ramp would Jamie need to create the slope she is comfortable with?


22.
A rock climber is choosing a route up a slab. Looking at two possible routes, she estimates the slope of the two paths up the overhang. She estimates the slope of the first route as 3:1 and the slope of the second route as 5:2.

a. 
What is the slope of each section, in decimal form?

b. 
Which section is the steepest? Explain.


23.
The staircase leading up to Lloyd’s front porch is 10 steps. The total rise is 1.52 m and the total run is 1.65 m. The steps are all built to identical dimensions.

a. 
What is the slope of the staircase?

b. 
What are the rise and run of each step, in millimetres?

c. 
What is the slope of each step?


24.
A designer of dog agility courses is planning a ramp which will have a 34% grade and rise to a platform at 6.5 feet. How long will the ramp be?


25.
Cheese rolling involves chasing large wheels of cheese down very steep hills. In Whistler, BC, the Canadian Cheese Rolling Festival was held on a hill with a 40% grade.

a. 
What is the slope of this hill?

b. 
The racers descend 300 m of elevation. What is the run of the course?

c. 
What is the length of the hillside?
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